PŘEVODY JEDNOTEK				Jméno:
(souhrn)							Třída:
									Datum:

45,5 m (cm) = 				306,5 m (dm) = 			4 670 cm (m) = 
0,05 m (cm) =				0,7 dm (m) = 				25 mm (cm) = 
120.56 m (mm) = 			60,8 cm (mm) =			172,5 dm (mm) =
1 205 cm (m) = 			25,05 dm (m) = 			125 m (km) = 
65,05 m (mm) = 			30 275 mm (m) = 			48,05 km (m) = 
2 009,7 m (mm) =			450 m (km) = 				1346 mm (cm) = 
166,08 mm (m) = 			276,05 cm (mm) = 			3,35 m (mm) = 
7 196 cm (m) = 			12,7 m (dm) = 				0,95 m (cm) = 

 640,5 t (kg) = 				 200 g (kg) =				1 420 q (t) = 
120 g (q) =				695,02 kg (t) = 				0,67 t (q) =
185,6 q (kg) = 				2 300 kg (t) = 				1 430 mg (g) =
6 500 g (kg) =				15,5 q (kg) =				180 q (t) =
387,5 dkg (kg) =			2 189 mg (g) =				42,51 g (dkg) =
405 kg (q) = 				1 340 g (kg) =				6 100 g (kg) =
600 kg (t) =				68 kg (t) =				17 850 kg (t) =
15 400 g (kg) =				1,25 kg (mg) = 				5,26 g (t) = 

8 min (s) = 				0,5 min (s) = 				30 min (h) = 				
2,5 min (s) = 				45 min (h) = 				48 h (d) = 
120 s (min) = 				30 s (min) = 				2 h (s) = 
1,5 h (min) = 				90 s (min) = 				5 h (min) = 				
150 min (h) = 				2,5 h (min) = 				0,75 h (min) = 			
15 s (min) = 				12 min (h) = 				240 min (h) = 
0,5 h (min) = 				6 min (h) = 				4,5 min (s) = 
0,2 min (s) = 				105 s (min) = 				1 800 s (min) = 			


2 hl (l) = 				 240 ml (l) = 				807,4 dm3 (l) = 
20 dm3 (l) = 				76,02 l (ml) = 				5,78 cm3 (ml) = 
5 030 ml (l) = 				250 ml (l) = 				3 240 ml (cm3) = 
209,5 hl (l) = 				30,25 l (ml) = 				750 hl (l) = 
2,7 m3 (cm3) = 			1 050 cm3 (dm3) = 			3,05 m3 (dm3) = 
1 120 ml (dm3) = 			40 dm3 (ml) = 				1 425 cm3 (dm3) = 
70,35 hl (ml) = 				457 ml (l) = 				1 004,5 dm3 (l) = 
8 750 ml (l) = 				3,45 l (ml) = 				106,5 l (dl) = 

8 200 Pa (kPa) = 			0,155 MPa (Pa) =			0,75 kPa (Pa) = 
9 500 Pa (MPa) =			0,08 kPa (Pa) = 			67,4 MPa (kPa) =
7 500 Pa (kPa) = 			7 250 Pa (kPa) =			0,35 hPa (Pa) = 
40,35 kPa (hPa) =			69,4 MPa (hPa) = 			80 Pa (hPa) =
4 500 kPa (hPa) = 			0,105 kPa (Pa) =			70,23 Pa (kPa) =
20,05 GPa (MPa) =			672,5 MPa (kPa) = 			20 975 Pa (MPa) =
2,506 MPa (kPa) = 			0,25 kPa (Pa) =				0,023 hPa (MPa) =
17,95 kPa (hPa) =			0,04 MPa (hPa) = 			67,4 Pa (hPa) =
